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. v e U] fe | Re| G | Con
v A A v mA | mA Hz ‘ kQ | pF pF
! :
EY 1 eur L 63 10,08 (5000 3 18 | 100 ‘01
EY 51 eur 1y 10,09 17000/ 0,5 | 4 1oooo 5ooooo |
U 459) Marc 63 |012 17000 0,35| 80 | impulse?) | ooos 0.8
5000 3 : 50 - 100 10,2
EY 86 eur 1) 10,09|] 18000 0,15 50 o
22000 0,8 impulses) 10,002 | 1.8
27000 | 40 . impulse’) |
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i Uf If Uy, Up ly ’p fir R: Cr Ca/k
© g @
v A v V | mA|{mA Hz kQ | uF | pF
| 5000 0,5 50 100 | 0,1
R 12 | Bri 3 6,3+10%) 0,09 17000| 0,5 10000--500000 | 100 | 3)
| 17000| 0,1 impulses) | 100 | 0,005
6 AX 2 - amer 2 63 01 25000/ 0,3 | 11 impulse®) © 0,55
6 W2 . amer 3 63 008 9000 25000 5 50 |
M 1,02 mA Up= 535725V 9 Uy, = 6000 V
le >02 mA Up-< 586674V ") Fig. 1; 6,<<0,59% t, < 5 pusec
1) U, = 18000 V *) Fig. 1; 6, <189% t; < 18 usec
p %) Fig. 1; t, < 109% t; < 10 psec
5 Cp = > F ) Fig. 1: 4, <159% & < 10 psec
) Cg fz
Equivalents
EY 87 Phl = EY 86 U 1514 Marc = EY 51 6S2A amer = EY 86
SU 61 Cos = R 12 6AX 2N RB =6AX2 | 6X2 amer = EY 51
U 43 Marc = EY 51 6S 2 amer = EY 86 V9 Fot = EY 1
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